.,56

165

52.5

52.5

—
B

220
—__ N

H

52.5

52.5

INPUT

:

H

191

245

18

130
195

18

212

Th—

OUTPUT

48.8

154

BONFIGLIOLI
¥ RIDUTTORI



165 LB 212 154
525 52.5
INPUT
N —
(1NN . o S
o WEEH T \\f 0 2 '/G(/ \H\\ 18 ~ 2
Q= I T T+ N~
e T = A
—] \ O ;@f‘} i
18 L
T.20 I{|16
197.5 255
N
,,
165 LB 212 154 Nz o N4
525 525 -~ T“'ﬂ
. 7 R\
SR+ ]
(=] \\\‘I’ ¢
L R NE +A#
(=] % I = 2 ‘Q \"-T -
S8 s M E7
I S N2
N1
12
20
137.5
OUTPUT
165 LB 212 154
525 52.5
/] é\ 9 p
FA N I w ot ™ =
-~ 1" I o o«
[=] T I T % _—_————— e — -
' o
©
4 |785 | M12x23
= -
@ M [ Mt | M2 | N | NT| N2 | N3| N | | i)
VFR130 |P80B5 |19Ke6| 218 | 6 | 200 | 165 | 130 | 12 | M10x25
VFR130 |Po0B5 |24ke[27.3 [ 8 | 200 | 165 | 130 [ 12 [miox25|
VRF 130 |P100B5 | 2806 |291#| 8 | 250 | 215 | 180 | 13 | M12x35
VRF 130 |P112B5 | 2806 |201#| 8 | 250 | 215 | 180 | 13 |M12x35

# Linguetta ribassata / Lowered key [ Verkleinertes Palfeder / Clavette a hauteur réduite

BONFIGLIOLI
¥/ RIDUTTORI




